



P. O. Box 1264
Foley, AL 36536

ESTIMATE

DATE	ESTIMATE NO.
8/25/2014	2014810

NAME / ADDRESS		PROJECT			
City of Foley P.O. Box 1750 Foley, AL 36536		Pine Street Parking Stalls			
ITEM #	DESCRIPTION	QTY	UNIT	UNIT EACH	TOTAL
	Construct approximately 12 parking stalls along east side of Pine Street from alleyway to Jessamin Ave.				
1	Concrete Curb/Turnout Removal	1	LS	1,500.00	1,500.00
2	6" Crushed Stone Base*	340	SY	20.00	6,800.00
3	1" Asphalt Wearing Surface - ALDOT 429 mix	25	TON	125.00	3,125.00
4	1.5" Asphalt Binder Layer - ALDOT 429 mix**	40	TON	125.00	5,000.00
5	Concrete Curb Stops	12	EA	60.00	720.00
6	4" Stripe	275	LF	1.50	412.50
TOTAL					\$17,557.50

R & S Paving & Grading, Inc. agrees to furnish materials and perform work as above and that this estimate is good for 30 days.

The authorized signature agrees to:

- a) Payment terms: Upon Request. (Late fees and interest are applicable at max allowed.)
- b) also agrees that any additional work beyond scope outlined will be at an additional charge. If applicable this includes any unsuitable dirt removed or suitable dirt added will be charged at a CY cost in addition to above. Warranty does not cover the occurrence of reflective cracking, grass growth or water ponding due to existing conditions.
- c) that this is a binding contract between parties listed and all parties with an interest in the improvements made to the property. Attorney fees and interest (18%) can be awarded to enforce this contract. By signing the contract you agree that in the event (if applicable) you (customer) are not paid, R & S will be paid according to the terms outlined.

Authorized Customer Signature: _____

Authorized R & S Signature: _____



Construct approximately 12 parking stalls along east side of Pine Street from Alleyway to Jessamine Ave.

ITEM	UNIT	QUANTITY	UNIT COST	TOTAL
Concrete Curb / Turnout Removal	LS	1	2750.00	2750.00
6" Crushed Stone Base*	SY	340	11.64	3956.60
1" Asphalt Wearing Surface - ALDOT 429 mix	TON	25	154	3850
1.5" Asphalt Binder Layer - ALDOT 429 mix**	TON	40	154	6160
Concrete Curb Stops	EA	12	165	1980
4" Stripe	LF	275	0.83	226.50
			TOTAL	\$18,922.10

*Excavation of topsoil and removal of vegetation incidental to Crushed Stone Item

** Tack Coat incidental to Asphalt Binder Layer

Thanks,

Conley Uter



Phone (251)970-1050

Cell (251)597-5095

Fax (800)927-6031



BUILDERS
CONSTRUCTION MANAGER
BUILD WITH THE BEST

Phone (251) 943-1112

220 W. Laurel Ave, P.O. Box 669
Foley, AL 36536

Fax (251) 943-1109

PROPOSAL

City Of Foley
Attn. Taylor Davis

Date: August 21, 2014

We propose to construct approximately 12 parking stalls along the East side of Pine Street from Alleyway to Jessamine Avenue per attached unit cost breakdown.

- Worker's Compensation and General Liability insurance is included on all work performed by our crews.
- Bond is excluded.

Bid Amount: **\$20,141.50** (Twenty thousand one hundred forty one dollars and fifty cents).

Thank you for the opportunity to work with you on this project.

Respectfully submitted,

John Jurkiewicz
E-J Builders, Inc.



Construct approximately 12 parking stalls along east side of Pine Street from Alleyway to Jessamine Ave.

ITEM	UNIT	QUANTITY	UNIT COST	TOTAL
Concrete Curb / Turnout Removal	LS	1	\$3,436.00	\$3,436.00
6" Crushed Stone Base*	SY	340	\$ 17.60	\$5,984.00
1" Asphalt Wearing Surface - ALDOT 429 mix	TON	25	\$ 143.40	\$3,585.00
1.5" Asphalt Binder Layer - ALDOT 429 mix**	TON	40	\$ 157.00	\$6,280.00
Concrete Curb Stops	EA	12	\$ 59.00	\$ 708.00
4" Stripe	LF	275	\$ 0.54	\$ 148.50
			TOTAL	\$20,141.50

*Excavation of topsoil and removal of vegetation incidental to Crushed Stone

** Tack Coat incidental to Asphalt Binder Layer